3 - Symmetrization Last time: 1- concentration 2- discretization + union bound - Generalization by 3- uniform convergence => generalization Today: A new technique to replace step 2, namely symmetrization. Slight us dification un form conv => generolisation \* Before  $\mathbb{P}(R(\hat{f}) - R(f_*) \ge \epsilon) \le \mathbb{P}(\sup_{f \in f} |\hat{R}(f) - \mathcal{D}(f)| \ge \frac{\epsilon}{2})$ which was due to k(t) - k(t) + 0 + k(t) - k(t) $\epsilon \in \mathcal{R}(\hat{f}) - \mathcal{R}(f_*) \neq 0$  $\leq \sup R(\hat{f}) - \hat{R}(\hat{f}) + \sup \hat{R}(f) - R(f)$  $= ) \quad \mathbb{P}\Big(\mathbb{R}(\widehat{f}) - \mathbb{R}(\widehat{f}_{*}) \ge \widehat{f}\Big) \stackrel{}{=} \mathbb{P}\Big(\underbrace{\mathcal{F}}_{\mathcal{F}} \sup \mathbb{R}(\widehat{f}) - \widehat{\mathbb{R}}(\widehat{f}) \ge \widehat{f}\Big)$ U { sup \$ (f) - \$ (f) = \$  $\leq \mathbb{P}\left(\begin{array}{c} \sup \\ \mathcal{F} \end{array} | \mathcal{K}(t) - \mathcal{K}(t) \geq \frac{1}{2} \end{array}\right)$ . ( by Union bound).  $+ \hat{\mathbb{H}}\left( \begin{array}{c} \sup \\ \sup \\ \end{array} \right) \hat{\mathbb{K}}(t) - \hat{\mathbb{K}}(t) \ge \frac{t}{2} \right).$ . (. by . symmetry)  $= 2 P\left( \sup_{f} \hat{R}(f) - R(f) \ge \frac{e}{2} \right)$ =) Need to bound RHS.

Theorem (Generalization by RC) For a fire class 
$$\exists$$
,  
define  $G = \{(a_{1}g) \rightarrow l((a_{1}g)), f\}$ :  $f \in \exists\}$ . If the  
loss fire a trifler  $0 \leq l \leq l$ , then with prob of loost  
 $1-\delta$ , we have  
 $R(f) - R(f_{*}) \leq l R(G) + l \sqrt{\frac{2}{2}} \frac{e_{1}g_{1}}{f_{1}}$   
Remarks - RC is a couplexity meanine of a fire class  
- Rote depends on  $R(G)$ .  
-  $g_{1}t G$  depends on  $f \in \exists$ . We expect  $R(g) \geq R(\exists)$ ?  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hope, as  $n \land R(G) \land$ .  
-  $We$  hop

$$\begin{aligned}
\underbrace{\operatorname{Example}}_{\mathsf{Y}} \left( \operatorname{Heeffling} S \operatorname{Irequality}_{\mathsf{Y}} \right) &= \widehat{\mathfrak{s}_{11}} & \widehat{\mathfrak{s}_{11}} & \widehat{\mathfrak{s}_{11}} & \widehat{\mathfrak{s}_{11}} & \widehat{\mathfrak{s}_{12}} \\
g\left(\widehat{\mathfrak{s}_{11}}, \ldots, \widehat{\mathfrak{s}_{21}}\right) &= \frac{1}{n} \sum_{i=1}^{n} \widehat{\mathfrak{s}_{i}} \\
g\left(\widehat{\mathfrak{s}_{11}}, \ldots, \widehat{\mathfrak{s}_{21}}\right) &= \frac{1}{n} \sum_{i=1}^{n} \widehat{\mathfrak{s}_{i}} \\
g\left(\widehat{\mathfrak{s}_{11}}, \ldots, \widehat{\mathfrak{s}_{21}}\right) &= \frac{1}{n} \sum_{i=1}^{n} \widehat{\mathfrak{s}_{21}} \\
&= \frac{1}{n} \left|\widehat{\mathfrak{s}_{21}}, \widehat{\mathfrak{s}_{21}}\right| \\
&= \frac{1}{n} \left|\widehat{\mathfrak{s}_{22}}, \widehat{\mathfrak{s}_{22}}\right| \\
&= \frac{1}{n}$$

Fact: 
$$\left| \sup_{x \neq y} F(x) - \sup_{x} F(x) \right| \leq \sup_{x \neq y} F(x) - G(x) \right|$$
  

$$\left| \begin{array}{c} \sup_{x \neq y} F(x) - \sup_{x \neq y} F(x) - G(x) \right| \leq \frac{1}{2} = \frac{1}{2} = \frac{1}{2} \\ \left( \frac{1}{2} + \frac{1}{2} +$$

- Introduce iid copy of the deboxt (glost data)  

$$D' = \begin{cases} z_1', \dots, z_n' \end{cases}$$

$$Zi's \text{ and } zi's \text{ ore } iid.$$
- Now, we have  $\mathcal{L}$  expired right,  $\mathcal{L}$  population right.  
i)  $\hat{\mathcal{R}}(f;D) = \frac{1}{n} \sum_{i=1}^{n} \mathcal{L}(x_i,f)$ 

$$= \hat{\mathcal{R}}(f;D) = E\hat{\mathcal{R}}(f;D)$$

$$= \mathcal{R}(f)$$
- Notice that  $\mathcal{R}(f) = \mathbb{E}[\hat{\mathcal{R}}(f;D)] = \mathbb{E}[\hat{\mathcal{R}}(f;D)] = \mathbb{E}[\hat{\mathcal{R}}(f;D)]$ 

$$= \mathcal{R}(f)$$
- Notice that  $\mathcal{R}(f) = \mathbb{E}[\hat{\mathcal{R}}(f;D)] = \mathbb{E}[\hat{\mathcal{R}}(f;D)] = \mathbb{E}[\hat{\mathcal{R}}(f;D)]$ 

$$= \mathbb{E}[\hat{\mathcal{R}}(f;D) - \mathbb{E}[\hat{\mathcal{R}}(f;D)]]$$

$$= \mathbb{E}[\sup_{i=1}^{n} \hat{\mathcal{R}}(f_{i}) - \hat{\mathcal{R}}(f_{i})] D]$$

$$= \mathbb{E}\left[\sup_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \left\{ \mathcal{L}(\frac{1}{n}, i) - \mathcal{L}(\frac{1}{n}, i)^2 \right\} \right]$$

$$= \mathbb{E}\left[\sup_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \left\{ \mathcal{L}(\frac{1}{n}, i) - \mathcal{L}(\frac{1}{n}, i)^2 \right\} \right]$$

$$\leq \mathbb{E}\left[\sup_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] + \mathbb{E}\left[\sup_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right]$$

$$= 2\mathbb{E}\left[\sup_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \times \times$$

$$\mathbb{D} = \left\{\inf_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right\} = \mathbb{E}\left[\sup_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \times \times$$

$$\mathbb{P}\left[\inf_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \mathbb{E}\left[\inf_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \mathbb{E}\left[\inf_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \mathbb{E}\left[\inf_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \mathbb{E}\left[\inf_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \mathbb{E}\left[\inf_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \mathbb{E}\left[\inf_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \mathbb{E}\left[\sup_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \mathbb{E}\left[\sup_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \mathbb{E}\left[\sup_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \mathbb{E}\left[\sup_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \mathbb{E}\left[\sup_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \mathbb{E}\left[\sup_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \mathbb{E}\left[\sup_{z \to z} \mathbb{E}\left[\sup_{z \to z} \frac{1}{n} \sum_{i=1}^{n} \sigma_i \mathcal{L}(\frac{1}{n}, i)\right] = \mathbb{E}\left[\sup_{z \to z} \mathbb{E}\left[\sup_{z \to z} \mathbb{E}\left[\sup_{z \to z} \mathbb{E}\left[\sum_{z \to z} \mathbb{E}\left[\sum_{z$$

$$\begin{split} & \left\{ \begin{array}{l} \left\{ R\left(\hat{f}\right) - R\left(f_{n}\right) \ge 6\right\} \le 2 \cdot \Re\left(\sup_{i} R\left(f_{i}\right) - R\left(f_{n}\right) \ge 6\right) \le 2 \cdot \Re\left(\sup_{i} R\left(f_{i}\right) - R\left(f_{i}\right) \ge \frac{2}{5}\right) \right\} \\ & - \frac{B_{Y}}{2} \frac{Skp}{2} 1 : * \Re\left(\sup_{i} R\left(f_{i}\right) - R\left(f_{i}\right) \ge \Re\left[\sup_{i} R\left(f_{i}\right) - 2\left(i\right)\right] + 1\right) \le e^{\frac{2\pi f^{2}}{B_{1}}} \\ & - \frac{B_{Y}}{2} \frac{Skp}{2} 1 : * \frac{\pi}{B} \left[\sup_{i} R\left(f_{i}\right) - R\left(f_{i}\right) \ge \Re\left[\sup_{i} R\left(f_{i}\right) - 2\left(i\right)\right] \right] \le 2 \cdot R\left(\frac{2}{B_{1}}\right) \\ & - \frac{B_{1}}{2} \frac{Skp}{2} 1 : * \frac{\pi}{B} \left[\sup_{i} R\left(f_{i}\right) - 2\left(f_{i}\right)\right] \le 2 \cdot R\left(\frac{2}{B_{1}}\right) \\ & = 2 \cdot R\left(\sup_{i} R\left(f_{i}\right) - 2\left(f_{i}\right) \ge 1 + 2R\left(f_{i}\right)\right) \le 2 \cdot e^{-\frac{2\pi f^{2}}{B_{1}}} \\ & = 3 \cdot \frac{2}{B_{2}} = 2 \cdot e^{-\frac{2\pi f^{2}}{B_{2}}} \Longrightarrow \quad t = 8 \cdot \left[\frac{2\pi g^{2} f_{i}}{2\pi}\right] \\ & \Rightarrow \frac{e}{2} := 1 + 2R\left(f_{i}\right) \Longrightarrow \quad e = 4 \cdot R\left(f_{i}\right) + 8 \cdot \left[\frac{2\pi g^{2} f_{i}}{n}\right] \\ & = 3 \cdot \frac{e}{2} := 1 + 2R\left(f_{i}\right) \Longrightarrow \quad e = 4 \cdot R\left(f_{i}\right) + 8 \cdot \left[\frac{2\pi g^{2} f_{i}}{n}\right] \\ & = 3 \cdot \frac{e}{2} := 1 + 2R\left(f_{i}\right) \Longrightarrow \quad e = 4 \cdot R\left(f_{i}\right) + 8 \cdot \left[\frac{2\pi g^{2} f_{i}}{n}\right] \\ & = 3 \cdot \frac{e}{2} := 1 + 2R\left(f_{i}\right) \Longrightarrow \quad e = 4 \cdot \frac{1}{2} \cdot \frac{1}{2}$$